bbbt otdbotdbbotgtbtugtdn

0 O oo|0o0oo@o)

Jobotdoboobodd~0O1200bggbgogbouoouoobogn

D000 ROOOO0OR[e,y O ROD 20000000(y) 0 2y 00000 Rlz,y) 00000000
Rlz,y] 00 hOOO00O Rz,y]/(zy) 0000 RO000000000000SOO00000OC

(1) Rlz,y)/(zy) 000000000z 000 y000000000000000O0
(2) f:Rlz,y]/(zy) » S 000000000000
Ker(f) = {a € Rlz,y]/(zy) : f(a) =0}
000000000000000

(3) 0000
f iRz, yl/(xy) — S

gboboobobooboobb sbooboobobuoobooboboobooboboobboobon
OsSOO00o0onD fooboooO

gobbboggboobogad
(1) 0000 QU30000 KOOOODODOOOOoooooooo30ooooooooooooom
(2) 00000 KOOOOOODOO0OQU200000000000000000O0ODOODOO

3) nO000O{1,2,...,n} 000000000000 O0OODOOOO0ROOO0O0OOOOS, 000000,
gbobboolbbboooobbodgd

H={ces, : o(1) =1}
OO0O0OHO S, 0000000DO00Db000O0
4) 00 [S,:HDOOODO
5) S, 00000 HOOODOOOOHDO S, 000000000oooo

(
(
(6) 0000000000 0000 S, 0000000000000000000 @
(

7) 000000 nn0000000000000KOODOROOODO LOODODOOOOOODOO

Lopooob KoooboobLobo KOoboooboo



oottt gtdootdboodn

0 O oo|0000(@D)

D000 RODOD00 M={(z,y5,2) €eR® |22 +42=1} 00000

(1) 00 f:R® - RO
f(z,y,2) =2+ 3
0000000000000 (2,y,2)000000000 (Jf) @y 00000

(2) 00 MODOOODOOOOOOOOOODOO

(3) RROODOOOOOOOOO000000 GO0000000,G={(X,a)|XcS0@3),acRkR} 00
0,00 (X,a)(X',a')=(XX',a+Xa)000OO000000MO GO R*O (X,a)-b=Xb+a O
000000000000000 MOOOOOOOO0O0 GOOO0O0 FOOOOO0000000

(4) 00 MOOODOOODOOOODODOOOOOOOOOOODOOOOOOOOO

(5) a,b0 ab#£000000000000~(t) = (cos(at),sin(at),bt) 000000000 M OOOOO
00000000

(6) (5) 000 ~0,3) 00000 HOODDODODODODODODODODODOOODOOOO

gobboobuoooobbodo

(1) 60000 A,B,C,D,E,FOR*0000000O00OO0OOOOOOOOOOOOOOOOODOOOO
gbgoboobobbobboboobooboobooboobobobobboboobmo

(2) oooono
K = {|CL0|, |a1|’ |a2|7 |aoa1|, |a1a2|, |a2a0|}

gbgobgobooobo

(3) 0000000000000 0000000000D00 Xh,X,, X5, X, 00000000000

X; X,

X1 Xs

() 000000 x(X1)0 x(X;) 00000

(i) 00 S'0000000000000000000000 S'0000000000000000
goooo

(i) 0000000000000 000D0O000000O00O0OO0
(iv) 00 0000000000000 0000000O0O0OO000O0O0Q



J000000000000000000000000
0 O oo|0000(@D)

0000 .00000000000000000
(1) 0000 f(z)0000000

—az

(&
= O
1) 11— 221+ 2)
R>20000Tx,000 RO —-R:O0O00O000O0OOO0OOOOO0OO0OO0O ROOOO Rez>00
Jddoododooddooood oo oo oo o oo ooog

f(2)d=
Ir

goooo

(2) 00000

/°° cos(ay) — ysin(ay)d _ me®
B
(3) 0000 ¢(2) 0000000

eaz

1—z2)(1+z)D
R>20000 CpUO00 —RO RODOODOODOOODOOODOOODO0OO ROOOORez<0OO
0000000000000 0000000000000000000000 ¢g(2) 000 CgO000
ggoooboboobboooooooobbbn
> cos(ay) + ysin(ay)
QKW (1+y2)?

ma:(

dyOd

(4 0000000000

* cos(ay) /°° ysin(ay)
——=d ————=dy[]
LKWG+W52% oo (T2

000000000000
(1) e<b0000000000

lim sin(nz) de = 00
n—oo (CL,b}

(2) 0 (by —ax) < 4000000000 (ag, by (k=1,2,3,---)0000000000

lim Z/ sin(nz) de = 00

n—00 = (ar,br]

(3) ADDD (0,27)00000000000000000000e>00000000 (0,27]00000
000 (agby) (k=1,2,3,---)0000000000000000000

[0,2#]

ooooooo 1,000 AODO0ODDOOODOOO

1A@Q——§:1mbmﬂxwdx<isﬂ
k=1

(4) ADUOD (0,270 00000000C00O0ODOOOOOOOOOOO

lim [ sin(nz)dr =00

n—oo A



oottt otdbootdbogubgdn

0 O oo|0000(@D)

Oo0ooooooonD X3,X.,--- 00000000000 OOODODOODODO0O0O00O000O00O0OOOODOOO
ad
e’ x>0
h@»_{o 2 <0
ofoooooooooooooo kooooo u, O

gobooo
(1) U, COODODOODOOODOoOO

(2) U, 000 w000 ¢200000

Uk;kakDDDDDDDDDDDDDDDDDDDDDDDDD

o 0000000000 Z, 000000000000
U
Uk+1

(3) « 0000000k —o00000 Z; =

(4)

O tk—-occUO0O0OO0OO0ODOODOODODOOOOOODO

0000000 «(t),y(t) ¢ >0000000
{x’ = —:I:+y2
y/ — xy2 _y4

(1) z(t) >0, y(t) >0 (t>0)00¢t—oco0000z(t), y)0DODOO00e 0000000000
0000000000

goobog

@)ﬂﬂ—J—EDDDDDD

y(®)
(b) Jim Z'(t) =0, Jim y()=00000
9
(c) (0) =5, y(0)=10000q bOODODOD

(2) z(0) >0, y(0)>00000x(t) >0, y(t)>0(t>00000

(3) z(0) >0, y(0) >0, y(0)?<z(0) 0000t —>oco0000x(t), y()0ODOOODODOOOO0O0000O0O
0ooo



oottt otdbootdbogubgdn

0 O oo|0000(@D)

000000000 V0O<|V|<+00)0000000ACVxVOO0O000D=(V,A)00000
00000 f:VUA—ROODOOO (F.1)O(F2)000000 DO0OO0D0O0O0O0

(F1) 000 zeVUuADDOOO f(z)> 00

(F2) 000 0veVOOO0O f)= Y. flvw)= > f((uv) 000000

weE(v,%) WE (*,v)

0000 (w,*) ={w eV : (vw) € A}, (x,v) = {u eV : (v,v) € A} 0000000d (v) = |(v,%)|0
d-(v)=|(xv) 000000

() D000O000000000D0D000O f(vy>00000000 fOOCODOOODOOOOO

(2) 0000000 f(v)>00000000 fO0000D0O0DOOO00000000000000000

O00f0DPOO0OO0OOOODOOOv0000 f(v)>00000000000000000
Vi={veV:d(w)>2}, Vo={veV:d (v)>2}, Va={veV:(v,x)NV, # 0}

0000000000000000 Vv,ul,0O00Oooooooooooo

B)veV\(VuWk) OO00Of(v)=f(w)DOOwel,uV; 00000000000

(4) > d(v)>|V|+|w|D0DDODO0DO0000O

veV
_ 1
@)Zﬂ(@zﬁﬂ+?%mmmmmmmmmmm
veEVa

(6) RODDODO SOOS={f(v):veV}OODOO0O0O|S|<3(4|—-|V))000000000000O
0000000000000000



